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1242711 H 40 AR Bk 1244911 H 10 AT FHE
124281 H 10 AR Byt 1245041 H 10 AT FHE
1242941 H 50 kft pegis 1245141 H 10 AT Qi
1243041 H 50 ikft pegis 1245241 H 10 AT Qi
1243141 H 20 %ft Byt 1245341 H 10 AT Qi
1243241 H 10 AR pegis 1245441 H 60 At FHE
1243341 H 90 AR pegis 1245541 H 50 % fR FHE
1243441 H 10 A Byt 1245641 H 40 AR B
1243541 H 50 ikft pegis 1245711 H 40 AR FHE
124361 H 10 AR Byt 1245841 H 20 AR =
1243711 H 30 mRft Byt 1245941 H 10 AR =
124383 B 40 mEft Bk 124601 B 50 mEft Bk
1243941 H 10 AR pegis 1246141 H 50 7% fR FHE
1244011 H 50 ik ft Byt 124621 H 50 % fR =
1244141 H 10 AR Bt 124631 H 10 AR =
124424 H 10 A LR 1246441 H 80 kAt B
124431 H 50 kft Bk 1246541 H 80 kAt =
124444 H 10 AR pegis 12466141 H 90 Ak FHE
1244501 B 10 FEAR Bk 1246741 B 70 BEfR Bk
12446451 H 20 %ft pegis 12468141 H 90 At FHE
1244741 B 10 FEAR Bk 124694 B 80 At Bk
124481 B 50 mkft Bk 1247041 B 80 At Bk
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1247141 B 70 mEAt Bk 12504451 B 60 it Bk
124724 H 80 At pegis 1250541 H 20 At =
1247341 H 10 A Byt 1250641 H 90 At =
1247441 H 10 s A Bk 1250741 H 50 % fR =
1247541 H 40 AR Byt 12508141 H 50 % fR =
1247641 B 50 mkft Bk 125094 B 40 3EAR Bk
1247741 H 70 AR pegis 1251041 H 10 kAR FHE
1247841 H 20 %ft pegis 1251141 H 50 7% fR =
1247941 H 70 mRfX Byt 1251241 H 10 AT QL
1248051 H 50 ikft Bt 1251341 H 30 %Ak =
12481451 H 10 7% AR Tk 1251441 H 40 AR J
12482151 H 50 ik ft pegis 1251541 H 20 At =
1248331 B 20 mkft Bk 12516 B 10 %A Bk
12484451 H 30 mRft pegis 1251741 H 30 %Ak B
1248541 H 30 Rft pegis 1251841 H 10 AR FHE
124861 B 30 mkft Bk 125194 B 10 %A Bk
1248741 H 20 %fX Byt 1252011 H 40 AR =
12488451 H 10 AR pegis 1252141 H 10 AR FHE
1248941 H 20 %fX pegis 1252241 H 10 AR B
12490411 H 20 AR Tk 1252341 H 50 AR J
1249141 H 30 Rft pegis 1252441 H 60 At FHE
124925 B 10 FEAR Bk 125254 B 20 mEfR Bk
1249351 H 50 ik ft pegis 12526141 H 50 % fR FHE
12494451 H 70 mRfR pegis 1252711 H 50 7% fR =
1249541 H 60 kft Byt 1252811 H 30 AR =
12496451 H 60 %ft Byt 1252941 H 10 AR =
1249741 B 30 mkft Bk 1253041 B 50 mEft Bk
1249851 H 10 AR pegis 1253141 H 10 AT Qi
1249941 H 50 ikft Byt 1253241 H 10 AT FHE
1250041 H 10 AR B 1253341 H 10 5%AR =
1250141 H 30 AR Tk 12534451 H 40 AR F
1250251 H 50 ik ft pegis 1253541 H 10 AR FHE
1250351 H 20 %fX pegis 12536141 H 30 AR =
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1253741 H 10 s A LR 1257041 H 20 AR FHE
12538451 H 50 ikft pegis 1257141 H 10 AT Qi
1253941 H 50 ikft pegis 1257241 H 20 AR B
125401 H 40 AR pegis 1257341 H 10 AT FHE
1254141 H 40 AR pegis 1257441 H 10 AT Qi
125421 H 50 kft pegis 1257541 H 10 AT B
12543011 H 60 it Tk 12576451 H 50 AR J
12544451 H 10 AR pegis 1257741 H 10 AT FHE
1254541 H 70 mRfX pegis 1257841 H 10 AT QL
12546451 H 70 AR Bt 1257941 H 80 kAt =
12547611 H 10 7% AR Tk 1258041 H 40 AR J
1254851 H 10 AR Byt 1258141 H 10 AR =
1254941 H 50 kft pegis 1258241 H 10 AR FHE
1255031 B 20 mkft Bk 125833 B 10 %A Bk
12551431 B 30 mkft Bk 1258431 B 10 %A Bk
12552151 H 50 ik ft pegis 1258541 H 10 AR =
1255351 H 40 AR pegis 1258641 H 30 AR FHE
12554451 H 10 AR Bk 1258741 H 30 %Ak =
1255541 H 60 %ft pegis 12588441 H 20 AR B
12556441 H 10 AR Byt 1258941 H 10 AR =
1255741 H 70 AR B 1259041 H 50 % fR =
12558451 H 40 AR pegis 1259141 H 40 AR B
1255941 H 30 Rft pegis 12592441 H 70 AR FHE
125601 H 10 AR pegis 1259341 H 10 AR =
1256141 H 10 A LR 1259441 H 40 AR FHE
125623 B 30 mkft Bk 125954 B 60 it Bk
12563611 H 10 7% AR Tk 12596451 H 10 7%AX J
125644511 H 40 AR Tk 1259741 H 50 AR F
125651 H 10 s A LR 12598431 H 60 At =
1256641 H 50 kft pegis 1259941 H 70 AR FHE
1256741 H 10 s A Byt 1260011 H 30 %Ak FHE
1256811 H 10 s A LR 1260141 H 10 AR =
1256941 H 50 kft pegis 12602141 H 40 AR FHE
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1260351 H 60 kft Byt 12636141 H 10 AT FHE
12604451 H 70 AR pegis 1263741 H 10 AT Qi
126051 H 10 A Byt 1263841 H 10 AT Qi
1260641 H 40 AR pegis 1263941 H 30 %Ak =
1260741 H 10 AR Byt 1264011 H 10 AT Qi
1260841 H 10 A LR 1264141 H 30 %Ak B
1260941 H 50 kAR Tk 1264211 H 70 AR J
1261041 H 10 s AT Byt 126431 H 10 AR =
1261141 H 20 %fX pegis 1264441 H 10 AT FHE
1261241 H 30 RfX Bt 1264541 H 30 %Ak =
1261341 B 20 mkft Bk 1264651 B 10 %A Bk
1261441 B 90 mft Bk 1264741 B 10 %A Bk
1261541 H 30 mRft pegis 1264811 H 10 AR =
1261641 H 10 A LR 1264911 H 30 %Ak =
1261741 H 60 kft Byt 12650141 H 10 AR =
12618 B 70 mEAt Bk 1265141 B 60 it Bk
1261941 H 80 At pegis 1265241 H 70 AR =
1262041 H 40 AR pegis 126531 H 20 At =
1262141 H 40 AR pegis 1265441 H 50 7% fR =
126221 H 50 ik ft pegis 1265541 H 70 AR =
126231 H 10 AR pegis 1265641 H 30 %Ak FHE
1262431 B 30 mkft Bk 126574 B 10 %A Bk
126251 H 40 AR pegis 12658141 H 90 At =
1262641 H 30 Rft pegis 126591 H 30 %Ak =
1262711 H 10 AR pegis 1266011 H 80 kAt FHE
126281 H 10 AR Byt 1266141 H 80 kAt =
1262941 B 10 FEAR Bk 1266251 B 90 At Bk
1263041 B 50 mkft Bk 12663431 B 30 mEft Bk
1263141 H 20 %ft pegis 1266441 H 10 AR FHE
1263241 H 40 AR pegis 1266541 H 10 5%AR =
1263341 H 10 AR Byt 12666141 H 10 AT QL
1263441 H 90 At pegis 1266711 H 10 AT FHE
1263541 H 10 AR pegis 12668141 H 80 kAt =
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1266941 H 30 mRft pegis 1268011 H 20 AR FHE
1267041 H 50 ikft Bt 1268141 H 20 At =
1267141 H 30 mkft Byt 12682141 H 30 %Ak =
1267241 H 80 kAt pegis 1268341 H 80 kAt FHE
1267341 H 10 s A Byt 12684441 H 30 %Ak =
1267441 H 10 A LR 1268541 H 40 AR B
1267541 H 10 AR pegis 12686141 H 10 kAR FHE
126761 H 10 s AT Byt 1268741 H 70 AR FHE
1267741 H 40 AR pegis 12688141 H 30 AR FHE
126781 H 10 AR pegis 1268941 H 70 AR FHE
1267941 B 10 FEAR Bk 126901 B 30 mEft Bk
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